far = AT R ET T Bl i 2 AN A

i =

(HT& 51 - SHE NG Te)

A FI54E6 H K H BL{E
HT 4 QLR A0 (58) A (o) UNEINGY!
H #HT 484 402 398 800
SRHT 1,876 1,716 1,893 3,609
JHET 996 909 850 1,759
== 1T 1,301 1,029 1,095 2,124
FFHT 1,997 1,849 1,963 3,812
JTHT 1,681 1,734 1,882 3,616
i 858 944 993 1,937
A AET 626 530 586 1,116
At ZEHT 919 888 904 1,792
BT 733 649 644 1,293
AR 1T A 913 872 868 1, 740
HARET2 TH 830 810 782 1,592
PEFTIR 1 T H 2,274 1,898 2, 037 3,935
VEETIR 2 T H 1,009 898 945 1,843
FRET 1T H 1,651 1, 361 1,749 3,110
T2 TH 1,268 983 1,140 2,123
kAT 3 T H 1, 462 1, 465 1,547 3,012
T4 TH 2,926 2,729 2, 956 5, 685
SRHET 945 922 959 1,881
HRA: BT 1,230 1,175 1, 256 2,431
EFIT1 TH 533 464 517 981
EJFET2 T H 810 878 812 1,690
KT 3 T H 743 736 715 1,451
EJFET4TH 221 225 201 426
EJFERT5 T H 476 458 506 964
AL P IR BT 1,127 1,156 1,112 2,268
Bl 1,594 1,674 1,797 3,471
HFES 1,213 1,257 1,320 2,577
E1TH 435 470 499 969
tE2TH 629 743 750 1,493
tE3TH 487 551 537 1,088
EE4 T H 412 524 499 1,023
FAZENT 1,451 1,087 1,135 2,222
TE T 733 712 741 1,453
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S F54E6 A K HBIUE
HT 4 QLR Ao () A0 (&) UNEINGY!
Z A LHT 1,038 851 1,039 1, 890
ERNET 918 978 1,009 1,987
KETHH 164 96 148 244
[icg gzl 901 946 903 1,849
HOHTHHT 1,017 1,103 1,094 2,197
KFHE 1,764 2, 056 2,034 4,090
KFFRIL 1,564 1,584 1,622 3,206
Al - /N 6, 265 6,473 6, 445 12,918
KT TNLEm 5,013 5,475 5, 464 10, 939
Kb Rk 4,855 4, 642 4,733 9,375
WAL 1,007 824 878 1,702
[EREa 497 410 410 820
S 1,546 1,394 1,496 2,890
EoE1TH 554 547 513 1,060
BEo=2TH 738 658 670 1,328
RFIK 4,838 5,083 5,123 10, 206
KFEFIE 3, 459 3,711 3,723 7,434
KFA 11,216 11,744 12,320 24, 064
K7 Eilin 2,038 2, 095 2,070 4,165
/INFFRET1 TH 2, 669 2,373 2, 752 5,125
/INFFRET2 TH 1, 302 1,251 1,228 2,479
/INFFRET3 TH 2, 486 2, 242 2, 532 4,774
/INFFRET4 TH 1,623 1,522 1, 550 3,072
KREFE 1,110 1,219 1,173 2,392
KFEFE 2,417 2,613 2, 685 5, 298
KFAH A A 769 664 733 1,397
== = 862 1,008 1,003 2,011
KFEdsit 75 110 89 199
1 T H 927 1,012 1,053 2, 065
2 TH 999 1,118 1,127 2, 245
B3 T H 877 785 899 1,684
B4 TH 680 704 800 1,504
w5 TH 800 807 893 1,700
KREWRZ T 331 316 337 653
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BI54E6 H K H BiAfE
4 A AR (B AR (&) AR GH
KT 207 249 240 489
KPR 811 954 986 1,940
RF-H HH 152 191 180 371
KFBTH 175 206 166 372
KFHH 18 23 19 42
KK 499 574 516 1, 090
Pl 1 TH 1,079 1,035 1,157 2,192
Ml 2 TH 1,136 1,154 1,221 2,375
=M1 TH 959 1,021 1,093 2,114
M2 TH 356 327 387 714
3 TH 840 862 900 1,762
A TH 1,269 1, 150 1,251 2,401
HRLAr 1 TR 1, 663 1,501 1, 649 3, 150
Bkl 2 TH 1,423 1,543 1,570 3,113
WL B3 T H 791 850 943 1,793
WL F4 T H 385 225 323 548
WL E5 T H 163 158 175 333
WL 6 TH 609 503 576 1,079
Pl 1 TH 1,104 1,145 1,109 2,254
w2 TH 325 338 372 710
farE1TH 1,514 1, 452 1,422 2, 874
My 2TH 679 730 744 1,474
M3 TH 882 847 863 1,710
#1TH 291 360 309 669
H2TH 275 331 335 666
#3TH 1,428 1, 444 1, 488 2,932
= &1TH 382 461 409 870
= E2TH 195 222 226 448
= &3TH 289 358 340 698
=E4TH 429 496 459 955
—&5TH 695 735 711 1, 446
WA 345 409 393 802
| 228 283 283 566
WA2TH 957 922 915 1,837
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D546 H K HBE
HT 4 QL A (59) AB () UNEGD)
WA3TH 2,205 1,473 1,631 3, 104
WAR4TH 113 82 126 208
WA7TH 336 352 369 721
WA TH 1,635 1,263 1,532 2,795
FREAR1ITH 1,764 1,891 1,940 3,831
FRER2TH 941 1,013 989 2,002
1 TH 235 256 272 528
2 TH 490 591 633 1,224
It 3TH 1,039 1,151 1,188 2, 339
4 TH 64 85 73 158
e [ B 353 424 398 822
bR T 643 583 656 1,239
AT IR 606 730 747 1,477
WETIR1 T H 1,558 1,531 1,390 2,921
WATIR 2 T H 2, 505 2, 768 2, 527 5, 295
WRETIR 3 T H 1,661 1,733 1,537 3,270
WATIR 4 T H 465 545 475 1,020
WATIRS TH 839 789 769 1,558
WETRAIE 1 T H 1,347 1,471 1,314 2,785
WHAHRAIE 2 T H 1,377 1,429 1, 369 2,798
WHTRAIE 3 T H 941 1,015 925 1,940
<TDEHE1ITH 444 292 384 676
<TDEH2TH 750 679 617 1,296
<TDEHE3ITH 920 747 853 1, 600
TER1ITH 166 170 146 316
TER2TH 422 546 513 1,059
HER 3 T H 568 624 617 1,241
TER4TH 605 660 657 1,317
MMRE1TH 690 776 801 1,577
MMRE2TH 710 780 848 1,628
INFFRFE1TH 553 623 636 1,309
INFEFRFE 2 TH 572 596 636 1,232
INFIRFE 3 TH 908 1,028 986 2,014
INFEIRFE A4 TH 802 974 969 1,943
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BI54E6 H K H BiAfE
HT 4 W A (59) AR (&) AR GH
INFHER 5 T H 564 770 700 1,470
/INFFERG 6 T H 621 617 629 1,246
/INFFEET 5 T H 592 597 598 1,195
WNFRRTET 1 T H 775 783 748 1,531
/WNFfRTET 2 T H 571 629 594 1,223
/NFFRTHT 3 T H 832 1,046 1,042 2,088
JEEFHHET 1 T H 91 107 17 224
LB 2 T H 26 36 21 57
¥ 1 TH 280 317 310 627
¥ 2 TH 157 182 194 376
¥ 3 TH 184 135 199 334
B 1 TH 102 126 129 255
kB2 TH 141 177 177 354
B3 TH 145 170 181 351
EFH1TH 836 819 828 1,647
E#FH2TH 1,280 1,408 1,359 2,767
EHFIE3ITH 1,412 1,573 1,583 3,156
EHFI4TH 1,332 1,460 1,552 3,012
EHFIESTH 1,702 1,895 1,947 3, 842
INEEE 890 974 973 1,947




